H| SIHA=

Kl
K
Il

=4 ¢

721 71

IH
ad

1

2020

OOO%
—~lo|lo|lo]|s
WSS =
~|lo|lo|lo]| S
WSSSW
ro
il
=
I gl gl g
MVWWW
__mo___ﬁ__ﬁ__ﬁ_

T|(T|T

L0

xoluo| .

o=

S |4 | 2

S|lo |l

| 2| o
L= (218
2a\m2
AR
ool [T
KD| gh | 7 [ oH

-0 [OH | B

xlomm_

3R
2|5
od | <d
ol
Rr| %0 | | 5
0| %of | 0T | %oT
B0 il | =l | '
KD B0 [ <o [ B0
I VR RN EsY
Rlelole
W 5|55 =
wsisls|”
PdR=1k=1R=
[a VI eV le\|




20204 1&27]| A|E=Z S =ZH| SIHA=

A2 T HA=H X} 44 3oy A ol ™A | FYIAEQ)
2020-01-02 X0zl ojg CHEO| A} Al (X9 0f= 2l 2 o|0|F kAl 15,000
2020-01-02 Sa7|a oE CH 2 Of At ATy | 7] 2H2HA R} 4 222l 108,000
2020-01-02| A[goj=olntel 7tz | 2SAIYEEE | AlCH |X[Yojl=¢l 2 old=da=+ 16,000
2020-01-02| A|GAZQlate| 7tz | ZSMAIE2EE| A [X|YtEQ! 2 HME T 19,800
2020-01-03 X<go=¢l o8 CH 2 O| A} ATy [X[Yof=2l 2 Atg| A &=0HE 19,500
2020-01-03| A|GAZEQlate| ZtEH3z| | ZSMAIE2FE| AlDH [X|YtEQ! 3 Ofe =4t 62,000
2020-01-06 X9oj=0l o g CHE O A} ATy (XYo=& 2l 3 ELnE=, 26,000
2020-01-09 XY 2A Xt O & CH E Of At ATy (X|Yof=2l 6 2tE Tl 153,000
2020-01-09| A|goj=olntel 7tz | 2SAYEEE | ACH |X[ojl=¢l 3 =0 el 43,500
2020-01-09| A|Yo|=Qlatel ZtEHz| | E2StAIE 2% | AT [X|Yo=2l 4 2tE Tl 91,000
2020-01-10 X 2AXE OE CH E Of At Aty | X[oj=2l 2 o|0|FHAl 13,500
2020-01-11 S AKX O E CH # Of At Aty | S HEA XL 2 theather café 9,500
2020-01-11| A[goj=olntel 7tz | 2SAE 22| ACh |X[Yojl=¢l 3 K% 43,000
2020-01-14| X|Yof=Qlatel ZtEHz| | 2StAE2F2% | ATl [X|Yo=¢l 2 el |l 24,000
2020-01-15 X9 oe¢l 0 CHE O| A} ATy (XY of=2l 2 32 12,500
2020-01-16 X< 2AX o CH E O| At AT (A E2A KL 4 Zixz|otC| e 98,000
2020-01-16| M T YT ZHES| | 2SR MM [(SH2AR 2 | =L 24,000
2020-01-17| X|Yoj=Qlatel ZtEHz| | 2StAE2F% | ATl [X|Yo&¢l 8 HEoHy 150,000
2020-01-19| X|Yo|=Qlatel 7tEHz| (222582 Al [XIYo=2l 4 =023 38,000
2020-01-20 S AKX O CH E O| At ATy (S SHEA KL ; ZHELO| 74,000
2020-01-20 S AKX O CHEO|A Aty (S AHBA R} THELO| 21,000
2020-01-20| X|Yoj=Qlatel ZtEHz| | Z2StAIE2F% | At (X|Yo&¢l 6 SAZ 106,000
2020-01-21 |72 0g CHE O| At Ay (A A RE 11 ==y 143,000
2020-01-22 S AKX O CH E O| At ATy (S S 2A Xt 4 CHAZFCEAER] 5,000
2020-01-22 =9 A X O E CHEO| A} Aty (S ABA X} CHRZEEAER] 7,400
2020-01-24| X|Yoj|=Qlatel ZtEHz| | ZStAIE2F% | ATl [X|go=¢l 4 =0t 2= 48,500
2020-01-28 XY AKX O CHE O| At ATy (X[Yof=2l 4 =R 100,000
2020-01-28| A|Go=olntel 7HED| | 2SALA2EE | AlM (XYoo=l 2 A 70| 15,000
2020-01-29 S BAX OE CHEO| At AlCH  |[MeAdegct BAR 2 A =2 8,500
2020-01-30 S TA XL O E CHE O A} ATy [BE7L 2 32 12,000
2020-01-31 XY 2AX O CHE O| At ALY | X[Ho)& 2l 3 ELNE= 39,000
A (314) 1,545,700




